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DESCRIPTION OF THE BASIC COMPUTER PROGRAM
FOR THE RAPID SOCIOECONOMIC MODEL

This paper describes the Computer progyram written for the Apple II
microcomputer to implement the BAPID s .oncozomic model. The model
cﬁun:ians and the use of the model are described in a separate papar,
Usar's Guide for the RAPID Socioeconomic Computay Modal and the Apple II
Computer. The general outline of the progran and the variables used are
described 1n order to provida the user with the iaformation required to
maka changes to the modael. Before attempting to do 80, however, the uger
should be thoroughly familiar with the use of the BaASIC pProgramming language -
on the Apple II computar. Apple provides an excellant set of manuals for
this purpoga.

Ganaral Prugzgg Organizarion

Dua to tha dagign of the Apple II computear it wvas necassary tc divida
- the program into thres saparace parts. The high resclution graphics of
the Apple do mot provide for the use of latters OT numbars within the
graphics arsa. Thus, it ig L3Cessary to use & program writcen in machine
language that can accomplish this task.

The othar two parts of the Progran are both writtan in Applesofr BRASIC.
Again the requiramenr for two Separate parts zrises from the design of the
hizh resolution §raphics in che Apple. 4An Apple computer with 48K RaM
normally loads che Program into the lowest portion of the RAM, starting

with che 2048th byee and increasing unzil the eatire Program is ia mamory.
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The variable values are then sczored starting from the highest portion of
RAM, starting at memory locatior 49152 and working downwards. When the
Program storage area meets the variable Storage area, the memory is used
up and all 48K RAM has baen used. Unforﬁuna:cly, the usa of high resolucion
graphics intrudes on this schems bacsuse it also requires memorr space, 8K
of RAM. The section of memory selected for the graphics i normally tha
space from 8K to 16K. Thus che progranm normelly has availablae to it the
space from 2K (2048) to 8K for StoTage and the spaca from 16K to 48K is
availa$l| for variable storage. Since the RAPID program raquires mich mora
than SK of storage thera is an obvious problen.

To solve this problem the BASIC program has basn dividad into two
parts. One part residas in low mamory, from 2K to 6K, and tha othaer in
high memory :zom 16K up. (The portion of memory from 6K to 8K is used by
the machine language graphics program.)

Tae program in low memory contains the procadurez to read in the data
base and to perform the demographic cﬁl;ulacions. Everything else resides
in the second portion of the progran. The second portion of the program
is the one that will usually be changed when changes ars made and iz can
be adited easily. Editing the first part of the program Ln cousidarably
more complicated.

To edit the second part of the program the entire program i3 loadad
into memory. At thisg point a2 LIST command will show only the first parc
of the program. To get at the second part it is firsc necessary to changa
the pointers that tall the computer where the program rasides. In order to
do this follow the procedurs below.

<. Enter the machine monitor by typing the command CALL -151.
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2.

Enter the commands: 67:03
’ 68:40
4001:0
4002:0
3. Type a C[CTRL] to raturn to BASIC.
Now the second part of tha program can be listad and editad. Omcs tha
editing is completed the following procedure will reset the pointars to the

first part of the program.

lo CAIL "1-51

2. 67:01
68:08

3. C[CNTRL]

If a diak is bcinz usad for storage rather than czgsatts tha progran
' should be savud a2t this point befors being run. The reasen £or this lies
in the fact that the operazing syscam of the disk raquires lOK o£ RAM,
However, with the program loaded thera are only about 10K bytas of storage
available. Thus Qi:h the disk operating system also loaded no stozage
remains for program variablas. Tharafors, the program erases tha disk
operating system wvhan it rums in order to gain storage spsca. With the
disk operating system arased no disk :ommands, such as SAVE, ;an be used.
Since reloading the disk operatiag system destroys any residant progran,
the need for savisg the edited program bafors rmumaing it ii cless. rh;fa—-
is oo memory requirament for the caa:c:tn's:oraga system, so this problen
i0es not arisa with cassetts storage.

An attempt to edit the {irst part of the program directly will eand
in disastaer since the secoad part of the program will be shifted to an

wminown memory location. To edit the first part the procedure below must

be followed.
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2.
3.

4.

5.

6.

NOTE:

Load just the first part of the program. (In order
to do this you must have just this part saved on tape
or disk or you must type it into the computaer.)

Edic this portion in the normal manner.
Save the edited version on tape or disk.
Enter the following commands:

- CALL =151
"67:03
68:40
4001:0
4002:0
C{CNTRL]
NEW

Now load just the second portion of thae progran from tapa.

It must be loaded from tape since loading from disk will
destroy the first program. (The second part o! the program
can be savad on taps by loading the entirs program then using
the commanr's '

CALL -151
67:03
68:40
4001:0
4002:0
C[CNTRL)

to enter the sacond part, then saving in the normal manmnaer.)
Enter thi commands:

CALL -151
67:01
68:08

and save the new program in the normal mwnner.

iue to the division of the program into two parts it
cannot be printed just by using the LIST commend. To
print tha antire program first losd it inco the computer,
then use the PR#L command to set up the printazr and the
LIST command to list the first part of the program. Then
§0 to the second part of the program using

CALL =151
67:03
60:04
40Ul:0
4002:0
[CNTRL]C

and again use PR#1 and LIST to list the second part of the
progranm.
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General Program Structure

The program is divided into & genaral program that has several sectors
and a series of subroutines that perform various functions. Most of the
subroutines are located at tha beginning of the program and a few at the
very end. The main portion of the program begins at line 2500 in the sacond
part. From this point the program branches to different areas dapending
on the sector chosen by the uger. The major portions of the brosran by
line numbar are as follows:

F:Lrst Part of Program

20=165 Subroutins used to input new valuas for variablas
that ars changed by tha usaz.

1400=-1451 Initiates the progzam by asking for country name
and reading in data base.

1500=1740 Dimansions variasbles, initializas variables and
reads in model lifa tabla.

2000-2125 Asks for users' inputs for !lr::l.li:y'and 1ife

: expectancy.

2130=-2420 ' Parforms demographic projections.

2500-2510 Transfers to second part of program.

Second Part of Program

10 Puts screen in texz mode, clears stiing spaca and

initializes Ql and Q2.

- 20-165 : Subroutine used to inmput nw vnluna £or va.riabln

that are changed by ths user.

210-261 Finds the damogrzphic projection on which the
chart scale i3 basad.

300 Writes letters in graphics areaa by calling the
machine langusge subroutina.

320 Secs up to write a numbar to graphics arsa. Used
with 330=342.

330-342 Writes a number in graphics area by calling the
: machine language subroutina.
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360-698

700~-i031
1100-1184
2000~2010
2301-2503
2505
2506-2509
2510-2535

2570-2820
3000-3570

4000~4450

Graphics subroucina. Its msjor parts ara:

360-367 Determines type of char: and final

year of chart

368-430 | Decermines scaling facrors and limics

) of chart

435-436 Transfers to 8000 if a table is being
displavaed

440-573 Draws chart cutline and prints labels

600-601 Detarmines color of bar or lins

604 Transfers to 680 if a bar chart ig
being displayed

605-630 Draws lins

650-698 Drazws bar

Draws population pyramid. _

Drawa peopls per hectars of arsble Lnnd' display.
Iransfers program co first part.

Pokes musical program into DemOTY.

Defines colors.

Drzors D.APID display or displays country nams.

Datarmines sector to be examined and trznsfers to
that sactor.

Displays demographic variablas.

‘Calculaces and displays economic varialles. Major
sections are:

3010-3120 Decermines changes made by user
3150-3285 Performs ecomomic calculations
3300-3570 Displays economic: variables

Calculates &nd displays education varialbes. Its
major sections ara:

40004050 Determines changes by users and vartapie

to be displayed
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4030-4124 Displays comparison of two projections
prinmary education

4300-4324 Fills in area on display between two
graphed lines, one stored in Z array
and one in M (6,T) array

4400-4450 Calculstes and displays other eduecation

variables

5000-=5150 Calculatas and displays health variablas.

5500-5610 Calculates and displays housing variables.

6000-6400 Calculazas and digplays nutrition and agriculture
variables. ’

6999-7001 Determines if snower was YES or NO.

70L0=-7015 Datarmines number selected by user. Chackr to be
sura it is a valid gelaction.

- 7050=7120 Gats projection to be usad in display.
8000-8080 ' Displays tabla of valuss on the screen or printar.

Figuraes 1 snd 2 display the general rslaticnship of thase program places.
Table 1 lists the varisble nawas that ars used in the program.
Attached to tha end of this paper 1s a listing for the two perts of the

BASIC program.



PART 1

20~-165
SUBROUTINES et

1400-1451
READS ™ DATA BASE

!

1500-1740
INTTIALIZES VARIABLES

!

2000-2420

PERFORMS DEMOGHRAPHIC
PROJECTIONS

3

2500-2510

TRANSFERS CONTROL
TO SECOND PART

*l

PART jffi/

Figura 1. Gaeneral Program Struczure of Part 1



FROM PART 1 ——3me

700-1021

POPULATION
PYRAMID

TRANSFERS TO PART 1

2000-2010

!

2500-2535

1100-1184

PEOPLE PER
HECTAPE
DISPLAY

et PART 1

INITIALIZES VAKIABLES 1
AND DETERMINES SECTOR
SELECTION
28702820
b q—-n—m
DEMOGRAPHY
210-261 DETERMINES PROJECTI
3609-3570 TO BE DISPLAYED
— |
ECONOMY % {
Sl 7050-7120 START OF DISPLAY
4000-4450 | ROTTINE
EDUCATION - ¢ *
360-698 MAJOR DISPLAY ROUT?
S5000-5150 | . | FOR GRAPHS AND BAR
HEALTH CHARTS
5500-3610 | | 8000-8080 DISPLAYS TABULAR
6000-6400
e NUTRITION AND [0
AGRICULTURE

MISCELLANEOUS ROUTINES

10-
20-165

6999-7001 Y OR N ANSWER
7010-7015 DETERMINES USER

CLEARS SCREEN
VARIABLE CHANGER

SELECTION

Figurs 2.

Geaneral Program Structure of Partc 2



Table 1
RAPID Modal Variables

)

RE>

&

3(3’11) -
2 -

BAR =

BLANK -

C$ -
CF -

D -
D(17,6) -

D§ -

E(7,11,3) -

F(11) -

Age index 1=0=4, 2w5-9, ... 16=75+, 17=all ages

Selection variable, indicates which option was chosen

Indicates whether economic output is in dollars (1)
or local currency (2)

Indicates lowest number acceptable in rasponsa to a
choice question

Indicaces highest numbar acceptable in rasponse to a
choice quastion

Contains smnswer to a question = Y for Yas, N for No

Determines the number of lines to skip between beaps
in the bar charr routine

Births by projection and time

Equals 1 if user has selected 3 bar chart option and
chart extends bayond 2005, otherwise it aquals O

Equals 1 if three saparate bars ares to ba plotted,
otherwise it aquals 0

Dummy variable used in WRITE Subroutine

Name of local currency
Consumption function adjustment constant

Duration of tcma during plotting routine

Contains model life table for 17 age groupe and 6
1lifa expectancy levels

Set equal to a (CNTRL) D character

Economic array for 7 variables, 1l time periods, 3
projections

Variablaes ars:

= Exrernal public debt
= Capital stock

= Employmeat

= GNP

= GNP per capita

= Consumption

N wnmeswwnN

1

Fertility for 11 time periods

———————

. e g e it m e m e o
H .
.
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Table 1 (continued)
RAPID Model Variasblas

h

'
[]

T..(ll) -

M5(40) -
M(20,11) -

Demographic sector

Code number for green color

Code numbar for orange color

Contains display selaction, = G for graph, B for bar
chart, T for table i

Index valus for FOR loops, also storas sun in housing
sector

Index valus for PFOR loops

Used in variable changer routine :

Contains starting address of inicialization machine
language routie :

Adjustment factor for household calcularions

Life expactancy By tims period
Equals 1 or 2 if labor force and child dependency
chart is being drawn, othsrwise it equals zero

Usad to contain text writtem to graphics area T
. i

A general array used for different purposes in each :
sactor. The sacond subscripe always refers to !
time. The usss by sector are:

1=17 = Deaths by ags group

18,19.20 = Total deaths for projecticn A, B, C
1 = Migration rate in displsy sector

Economic ssctor
1,2,3 = Labor forus in projection A, B, C
® Aid us percent of GNP
= New job raquiraments
= Labor force participacion rate

O v 0




Table 1 (continued)
RAPID Modal Variables

it e e ————————

Education sector

1 =» Primary enrollment rate
2 s Sacondary enrollmant rate
4 = Primary aga children
5 = Primary children in school, first ;
projection i
6 w Primary childrea in school, second :
projaction ;
Housing sactor i
.1 = Numbar of housaholds
2 = Naw housing requiremgacs
3 o Avarage housahold size

Agriculture md Nutritlon soctor
1 e Grovch rate of food supply
2 uw Arable lind
3 v Kilocalorias roquired
4 = Kilocalorias supply
5 = Hatio ef ldlocaloric supply to
raquiraments
6 = Arible land/espita

» Pgople par doctor
= Pgople par hospital bed T

o Projection A
@ Projection B

13 = Projeetion C
Varisble rhangar routina
15 o Variabla valve
16 v Yeusr
NC = Equals 1 if chart cutline is drawn without any plotting|
NUMBER - Numbers to be written in graphics area '
NS - Country name

P(17,31,3) - Population by age group (1=i-4, 17wto:al). tims
and projection

M - Inc Lcates if populacion momantum chart is being
displayad
PURDLE = Coda for purple color _




Table 1 (continued)
RAPID Model Varizblas

Q-
Q2 -

Sl -
S2 -
SK =

§$¢3) -

Tl -
T7 -

T(138) =

Indicates if units ars percenc (1) or per thousand (2)
Equals 1 if graph outline has baen sat up, otharwise

equals 0

Indicates scenario Asl, B=2, C=3

Scenaric number

Scenario number

Equals 1 if bar chart plots only every other line,
otharvise it aquals 0

Scenario, lwA, 2oB, 3uC

Time indax 1-1373, 2=1980, ..., 1l1w202S
Indax for arable lsnd display

Index of f{inal year to be displayad
Index of final yaar of projection

-Inigial data/basa. matrix - corresponds to numbers

ocn load shest. Extra units are used to stors
and ratrieva country nane.

Index in WRITE subroutins

Start of machine language subroutine to write text
in graphins arca

Code number for white color

X-axis plot valua

High aad low limics of X-axis of graph
Bar char: spacing variable

Bar chart spacing variable




Table 1 (continued)
RAPID iiodel Variablaes

Y-axis plot

value

High and low limits of y-exis of graph
Year, 1=1975, 11=2025

Bar chart start variable

Bar chart step variable

Used in change routine

Used to calculate graph in educatieom comparison chare

Contains valuas to be plotted

Lowver limit
Graoh scale
Graph scale
Arable land
Arable land
Graph scale
Upper graph
Graph title

of graph

value

valua

pPer capita index number
per capita index number
value

limie



19 GOTO 1400
20 HOME ¢ PRINT Z%: piirT "W COUALS *:7¢1): MRINT ¢ PRINT

|-

-

o1
¢ M
1
=
=

I

150
162
1539
1500
1401

1403

14085
140
1410

1415

142¢
1425

1430
14490
1450
1451
1500
1510
1511
1520

1330
1500
610

COIRT O CPLTAST ENTLR 20 VALULS": pRInT o CF "iZa: PRINT » ENTER a8 v

CAM . VALUL

FPRINT " AT THE END ENTW 0.9 PRIRT "LYasFLE-"t PRINT "2000 .3 pooINT

"2025,29 8 PRINT "o, 00
PRCLSP1) = YOL00IMC 00l B Z01)0Z00) = 7010
UT MC1S. 10, 40180020 1F MO15,10 = 0 GOTQ 71

= T
- 4

(18+1I) 9 RTINT CUMOLIS,I) ~ Yl 2 5 &, =&y 4 YC1)! GOTOD &%
3L -~ 1YL 2 20 IF I = 1 THON RETURN

FOR I1 = 2 TO I!Y2 ® INT ((H(1%,11; -~ YC1)) /2 8) + 1212 = 5 + ¢ M(153,
I1Y = y(y1 - 1))

FOR T = Y1 TO Y2:2(T) = 2(T - 1) 4 LE X (MC1GeTI1) = M{144I1 - 1)): NEXT
'YL = Y2+ 1t NEXT
IF Y2 > = T9 GOTO 145
FoR = Y24+ L T0 T¥ILTY =2 Z(T - 1) NCYT
RETURN '

DIM NS(20):D2 = wo

FRINT DSi"NOMON C,1,0": HOME : FRINY ¢ PRINT "PLEASE ENTER THE NANME
OF THE COUNTRY"™: FRINT "YOU WISH TN FXAMING “3% INFUT Ne

PRINT ¢ PRINT ¢ PRINT ¢ PRINT "MAKE NFRTALN TIHE DATABASE DISK IS IN
“? PRINT “THE DISK LRIVC®?! PRINT ¢ FPRINT *FRESS RETURN TO CONTINUE":
IMPUT AT '

DIM T(188)

HONE ¢ HTAR 5! VUTAD 10: PRINT "LOADING DATA FOR "iMgsw,, "
CPRINT DS "OPEN “iNS: PRINT UBF"READ “3NS: FOpP I =2 ¢ To 76 INFUT T¢
I)1 NEXT ¢ INPUT Cso

FRINT DS:i"CLOSE“

T(77) = LEN (N$)! FOR I = 1 TQ TCZ735TC77 + 1)« ASC ( MIDs (N$,Iy
1)) NEXT
T(118) = LEN (C%)! FOR I = 1 T§ TC118)3T(118 + I) » ASC ¢ MIDS (Cs
»I121))8 NEXT '

HIMEM: 49152

FOKE 54,240: POKE %%,253: FOKE 99¢ 27 POKE %7,2%3

FOR I = 1 TO T(77)IN%(I) = CHRS (T(77 4 1)) NEXT

Ce& = " “ FOR I = 1 TC T(118):C% = C3 1 CHRS (TC118 + I))* NEXT
READ A'TyS'I'T9rﬁ!DLANN!XH!XL'YH'YLVGI'erUqﬁﬁ

LATA 090'0'0'0'0v160vO!OvO;OvaO'Ov“Y”

WRITE = S454:INIT = 4843

DIM P(17'11-3)'D(17o6))Y(11)0F(11)7L(11)v2(11)oH(EOoIl):B(S:ll)rIS(
40 39 MS(40)9E(7+11+3),5%(3) f
S$(1) = “A":S3(2) = “pu:SE(3) a *[w

FOR L = 1 TO 4! FOR A = 1 TO 17 READ DCAsL)! NEXT ¢ NEXT

DATA .3629r.1704o.0541'.05420.06071.08089.09071.1006;.10859.1156¢.
1351;.1703:.22697.3036;.3966;.5183-.7335;.2593v.1119;.0370:.0373:.04
.779 o(’Sé‘} 00635' 007079 0077' 00836' 00797'01277' 0173:' 02371 03200' 04333! .
6941

IlATA .1731“0712' 00242l 00248’ o0321l 00332’ 00432' 00484! 00535' OGEQE:‘ .
’-‘733!‘ 009\51’ 013319 018?3’ -2\533? 036Q\5F o&453' 01111' 00380' .014v o0148' (02
.02439 oﬂ:?\sﬂ 0031! 00357! 0041?.' 0()533! .O§’26r t1034” olSOC# 02217! 032257 57

TN
S e

DATA dUET21 00149, ,8081 4 . 0008, .06

(‘.’ D (.’/1\5' o(’ll’l! 00141! 001\57' .02055 '02\55? .
0365! 00520! 00772!’ 0’.185!‘ 018"!2! '2‘\313: 05456! 00161' 0(3021!‘ 000121 00014! PR
2:.' '0"’28! ‘00370 '005' .00.739 0001?.' vOlB?l v02931‘ oo-‘r\‘.';'."'.' .l'ﬁ"qu 01348‘ v::"v'l~

P4 TS

HUNL D PRINT ! PRINT ¢ FRINT "HLEABE ENTLIR THE FINAL YEAR OF": FRINT
“THE FROJECTLIUN®? INFUT T?:T9? = INT (CT? = 1975) 7 5 4 ,%) + 1
VLo = TOYEILIL)Y » TC28)IF(L) = TC13 FOR = 2 TO T2IY(T) = YT - \&0
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1740

2000

2010

2080
2060

2070
2100

-ite
2111
2112
2113

[ 4
212%

2130
al38

200
41e
42

200
wio

-1

+

SIFLT) B T(18IILUT) = T(24)8
R A= (A

b NEXT
“FO DTO 1Pt ALIslY m T FCAsl

> d
n
-4
EaS
»
A4
* e
~
>
[y
-
[N}
S
a
r
~
»
b
£ L2
%
"
bad
-‘

p2)

TEXT ¢ HOME

PRINT "DO YOU WANT TO"! PIINT ¢ PRINT "% CHANGT FLRTILITY"! PRINT »
2 CHANGE LIFC CUMECTANCY": PLRINT 3 CONTINUE"D RINT “ENTER 1, 2 O

S TO INDICATE"! PRINT "YUUR CHOICEY

INFUT ALY IF A1 = 3 THEN GOTC 2130

N Al GOTC 2070.2100: FRINT ¢ PRINT “FLEASC RESMOND WITH 1, 2 grR 2"
v GOTO. 2050
2% = "FERTILITY": FGR T = 1 TO To!X(T) = FCT ) NEXT ¢ GOSUER 20: FOFR
T = 1 TO TSIFCTY = Z(T5! NEXT ¢ GOTC 2000
it = "LIFE EXPECTANCY": FOR T = 1 TO TOIZOT) = LOT)Y NEXT ¢ GOSUE 20

FOR T =1 TO T9

LIT)Y) = 2¢(T

IF LOTY £ 25 GR L(TY > 7% THEN GUTO 2123
NEXT ¢ GOTO 2000

FRINT 3 PRINT ¢ PRINT "ERROR - LIFE EXPECTANCY IS": PRINT LES

S THAN 25 OR MORE THAN 7%": FRINT YEMIER LIFE EXPECTANCY AGAIN"! FRINT
¢ PRINT ¢ GOTO 2010 '

S =95 + 1l IFSs>3 THEN S = 3 _
PRINT ¢ PRINT ¢ PRINT “THIS PROJECTION WILL BL DLUSIGNATED®: PRINT
FROJECTION "3S$(S)jt FPRINT * IS TH1S CORRECT™ ! INPUT AS: IF A% s "y®
THEN GOTO 2145 ’
PRINT ¢ FRINT ¢ PRINT "SHOULL THIS RUJECTION EE Ar B OR C*: INPUT
AS:I = 0

I =1+ 15 IF A% = SS(I) GUTO 2139

GOTO 2137

S =1

IFS=10RS=208S=3 THEN GQTO <1648 PRINT ¢ PRINT "PROJECTI
ON MUST BE As B OR C"! PRINT "PLEASE REENTER": INPUT A$: GOTO 2140
PC1l74091) = T(O)IIP(1750,2) = TCONIPC174093) = T(H)! HOME ¢ VTAB 12¢ "RId

' FRINT *"CALCULATING DEMOGRAFHIC FROJECTION ...
FCR T = L TO T%

FOR I = 35 TO 7% STEP 10

IF LCT) > I THEN GOTO 2220
Ll =<(I -2%)/ 10 + 1

FOR A = 1 TO 173MCAsT) = DCAVLY - 1
(T) =14 10) / 10! NEXT ¢ GOTO 2225
NEXT

IF T = 1 THEN GOTO 2400
PO17sT+S) = OIMILIT + SyeT) = 0:H(S,T) = 0 FOR A 2 70 15:4 = P¢p -
1rT = 1+8) X (MAT) + MCAST = 1)) / 2IPCAYTYS) PCA = 1T = 1,57 -
MIFCL17+TyS) = PCL7,T,S) + PCArT»SHIIMCLY + SoT) = MOLIT + SyT) + M NEXT

) + {ICAWLL) - IKAYLL - 1)) x (L

M = PCLSsT = 198) % (M(18,T) + MO189/T = 1)) / 20PC16,T9S) = F(15,7 -
1:S) = MIML = P(1&8+T - 1,5) % (M(L7.T + MO177 = L)) 7 2iP(15:T¢S) =
PO15:TvS) + PL18sT = 1,453 - HItPCLIZ9TyS) = FCOL7Te8) + PULSsTeS )M
7+ SeT) = MC17 4+ 5,T) ¢+ M ¢ ML
B{S,T) = 03 FOR A = 4 TO 9:I¢3,7 = BESsT) 4+ & X IM(TY & T(A + 15 2
(PCAPTsS) + PCAIT = 1.5)) » TE2S3 7 108 NEXT M = H(SsT) % (M{1.73 +
PC1sT = 1)) / 29F(1:T+S) = IMS,T) - MIFC17eT93) = PLL179TsS) + PCLleTs
SIIMULY + B4T) 3 M(L7 + SyT) { M

NEXT T

B(Syl) = H(1,2) % RC1s2) / HCL1,3)
M17 + S¢1) = M(138,2) % M(18,2) S M(18,3)
POKE 103403 FOKE 104,54 POKE 158284+0% MURKE 153I2%,0
GATO 2%00
A



- Cet st VAl QIR NG VARLULLDT G I'RIN " UR "5L%: FRINT * ENTER.AS Y
ERRsVALUE"

30 MRINT Y AT THE ENDI ENTER 0:0": FRINT "EXAMFLE="! FRINT "2000,3": PRINT

. PROLE DY PRINT "0s0"

3T FRINT 11 B 1IMC15,1) = 197%tM(15e1) = 7

(1
1= 2 0 U8 INPUT MOLIS,I)eMO28s1D0 IF MOLE,
i: - H 4

L0G 3 = ¢
N

)
Iy <%0

s

)
0 7o

1970 = 2V IF I = 1 THEN RETURN

IOTOR L1 o= 2 TE TIVE = INT ((MC1SsI10 - 1975) 4 5 b 1312 =2 5 7/ (M(15.
vLs s YOV - L))

FEOFOE T = YLOTUOY2IZ(TY = 24T - L)+ I2 % (M{1&,11) - HE189I1 - 1)) NEXT
YL o= Y2 4 1t NEXT

e IF VT X o= 79 40T0 165

led FOR T = Y2 + 1 70 TRIZ(T) = Z(T - 1) NEXT

148 RETURN

210

S = 1t PRINT ¢ PRINT "UO YOU WANT THIS FROJECTION TC HE*: PRINT "BAZE
[ ON DEMCGRAPHIC PRUJECTION "$33(S): PRINT "(Y OR N) *;: GOSUE 5799
IF AS = "V" THEN [RETURN
240 PRINT “WHICH DENUGRAPHIC FROJECTION DO YOU“: PRINT “WANT TO USE": IWNPUT

A% FOR I = 1 70 3: IN S20L) = A% GOTO 243
441  NEXT
242 GOTO 280
243 8 = 1% IF PO1751998) < > ¢ THEN RETURN
250 PRINT "DEMOGRAPHIC PROJECTION "35$(S)! PRINT "HAS NOT BEEN MADE" ! PRINT

"I0 YOU WANT TO MAKE ONE (Y Ok N)*! GOSUB $999: IF AS = “N* GOTU 24
0

261 AS = "X"? RETURN

S0 FOR W = 1 TO LEN (M%)} POKE &5 ASC ( MIDS (MS,Wsl1))¢ CALL WRITE! NEXT
¢ RETURN

320 VTAR 1! HTAB 1! PRINT ¥ "1 V1AW 13 HTAD 1! PRINT NUMBER: RETURN

330 I = 0
340 POKE 4r PEEK (1024 + I)!II = 1 4 1°? 1F PMLEK (&) = BLANK THEN RETURN

342 CALL WRITE: GOTU 340

360  TEXT ¢ HOME : PRINT “DO YUU WANT 10 DISPLAY THE FROJECTION AS": PRINT
"(G)-A GRAFH"! PRINT "(B) A BAR CHAR'“! FRINT "(7T) A NUMERICAL TABLE
*i INPUT Gs .

J61 IF G = “G" OR G$ = "H" QR G3 = "T" GOTU 243

S62 PRINT ! PRINT *PLEASE RESPOND WITH Go B UR 1": INFUT G$: GOTO 361

363 T7 = T9! PRINT ! PRINT ¢ PRINT “SHOULD THE DISPLAY SHOW PROJECTIONS":
PRINT "TO "§Y(T?): GOSUE 4999: IF AS = ®*Y" GOTD J6%

S64  PRINT : PRINT { PRINT “WHAT SHOULD THE FINAL YEAR OF": PRINT "THE DI
SPLAY BE®"! INPUT T7IT” = INT ((T7 = Y(1)) / 5 4 .5) + 1

385 IF G$ < > "B" GUTO 348

365 PRINT : PRINT ! PRINT “DO YOU WANT": FPRINT “1 ONC BAR CACH FiVE YEAR
S": PRINT "2 THREE BARS EACH 5 OR 10 YEAKS": INFUT LARIYAK = BAR - 1
¢ IF BAR < > 1 AND BAR < > 0 GOTO 3468

367 B2 = 01 IF BAR = 1 AND T7 > 7 THEN E2 =

368 HOME ¢ CALL INIT! HGR YL = 17:YM = 1St
lE13: IF LF = 1 THEN YH = 94

3139 FOR T =1 70 77

370 IF Z% « Z(T) THEN 29 = 2(T)

XL o= 30IXH = 276127 = 01l =



CIF Z0 > 2(T) THEN 20 = Z(T)

NEXT

IF LF = 1 THEN Z9 = PC1977¢S) + F(201798) + PC3e174)

IF L9 = 0 GOTU 432

IF Z9 = E(S¢T7¢1) AND ECOS9T743) > 29 THEN Z9 = E(4917+3)

IF INT (29 7/ T€(64)) = INT - CECS»T7e1)) ANL EC&yTH/93) » 29 / TC64) THEN

I = E(&9T7¢3) X TC64)
FOR I = -3 70 12
28 = 10 ¢ 1 -

IF 29 < 28 GOTO 400
NEXT
29 = (2 % INT((Z9 / 10 ¢ (I =2)+2)/ 2)) £ 10 ¢t (I - 2)

Z0 = o

Zy = INT((I =1)/ 3)+ 12 IF 29 /10 ¢ ((Z1 - 1) % 3) « 10 AND 21 >
1 THEN 21 = 21 - 1
IF GS = “T* THEN GOSUB 8000
IF G$ = *T* THEN .- RETURN |
HCOLOR= 3: HPLOT XLsYH TO XHsYH TO XHiYL TO XLoYL TO XL¢YH
UTAB 1% HTAB (20 ~ LEN (Z8) / 2)IM$ = Z8: GOSUB 300
UTAB 23 HTAE 1! ON Z1 GOTO 480,490,%500,510,520

M$ = * 3 GOTO 540

M3 = “THOUSANDS®?! GOTO %540
M$ = “MILLIGNS®! GOTO S4¢0
M$ = “BILLIONS®"! GOTO Z40
M3 = "TRILLIONS®

IF Q1 = 1 THEN M$ = "PER THOUSAND"
IF Q1 = 2 THEN M$ = ®"PERCENT/YEAR"
GOsSuB 3090
22 = 10 ¢ ((21 - 1) £ 3)
IF 21 ¢ = 0 THEN 22 = 1
IF 29 < 1 GOTC 555
NUMBER = INT (29 / Z2 + .S)! IF Z9 < 10 THEN NUMBER = ( INT (Z9 % 10
/ 22+ .8/ 10 '
GCSUB 320% VTAB 3¢ HTAB 1¢ GOSUB 330
GOTO Té0 .
NUMECR = ¢ INT (29 % 100 7/ Z2 + .5)) / 100! GOSUB 320¢ VTAB 3: HTAB 1
¢ GOSUR 330
IF LF = 1 GQTO %70
I+ NUMKER < 20 GOTO 5695

962 NUMEER = INT ({NUMBER - Z0 / Z2) / 2 + Z0 + ,5)¢ GOSUB 320! UTAB 11:

810
512

HTAR 13 GOSUB 330! GOTO 570

S NUMBER = ( INT ((NUMBER % 100 - 20 / 22) / 2 + 20 + .5)) / 100 GOSUB

3280 VTAE 11! HTAB 1! GOSUB 330
NUMBLE = Z0 / 22% GOSUB 320! VUTAB 19° IF LF = 1 THEN VTAB 11
HTAL 1: GUSUR JI30INUMBER = Y(1)! GOSUB 320% VTAB 20% IF LF = 1 THEN
VTAR 12
HTAE S! GOSUR J30INUMBER = Y(T7): GOSUE 320: HTAR 37! VTAR 20: IF LF
= 1 THEN VTAR 12
GOSUB 3Ld
IF NC = 1 THER RETURY
D = 20! HUULOR: GLD! IT S = 2 THEN HCOLOR= FURPLE
IF § = 3 THRI{ HCULOR= GELN
IF G$ = “T* %iEN GQUSUD 3.5! RETURN
IF G3 = °T" THEN GLSUD S&u: RETURN
IF G3 = “B" GOTO suo
FOR I = 0 70 1
FOR T = 1 TO T7
Y & YH = ((2UT) = 20) , (29 <00 U (YH - YL) + 1
X2 0OY(T) = YC1)) /7 (YCi7) = v41)) = (XH - XL) + XL \C\




619

816
817
618
519
520
621
524
et
470
S50
566
885
567
679
580
531
682
93
684

810

813
820

e

IF X > XH THEN X = XH

IF Y < YL THEN ¥ = YL

IF Y > YH THEN ¥ = YH

IF T = 1 THEN HPLUT XsY

IF T < > 1 THEN HPLOT TO X,Y

IF I =1 GOTO 424

REM POKE 788sY+502POUKE 759, OXCALL . ¢
NEXT

NEXT I

M$ = S8(S)! UTAB (Y / 8) + 13 HTAE 40 CUSLLE 360! LETURN

XI = INT ((XH - XL) / (2 % T7 £ 01 = WU % BSRS)Y 4 ,5) = 3IXE = X1
IF BAR < 1 GOTO 481
IF XI > 20 THEN ¥I = 20

XE = XI / 3 - 2% (1 - B2) - 2
COTO 481 :

D = 8D = 20: GOGTO 450

T =00 IF XI > 11 AND BAR < 1 THEN XE = 11

T=T+ 1+ B2 IFT>T7 GOTO 497

Y= YH = ((2UT) = 20) / €29 = Z0)) % (YH = YL)

X =00Y(T) = Y€1) / (YCT7) = YC1))) % (XH = XTI = (XL + Z2)) '+ XL + X
I

IF BAR > 0 AND T7 > & THEN X » ((Y(T) =- YC2)) /7 ¢ INT (N(T7) 7 15, %
10 = Y(2))) R (XH = XI - § = (XL + XI)) + XL + XI
IF BAR > 0 THEN X @ X + (5§ - 2) % (2 ¢ XE + 5)

HPLOT X = XEsYH -TO X 4 XEsYH

YR = INT (YH / 2) % 2IYP = Y!YS = = 2¢ IF LF < > 2 GOTO 472
YP = 84 + 84 - YIYS = 2:YB = YH
FOR I = YB TO YP STEP YS ‘ ' °
HPLOT X + XErI: HPLOT TO X - XEe¢I: IF I / B~ INT(I / B) 3> .0i (OYO
693" :

REM POKE 748/+I+50%POKE 759 DXCALL 770

IF SK = 1 GOTO 49%

HPLOT X - XErI = 1 TO X + XEsI - 1

NEXT I

GOTO 482

GCOSUB 630

RETURN

HOME ! CALL INIT? HGR :Z = 0

FOR T = 1 TO T9: FOR A = 1 TO 14:%1 = PCArT»8) 7 PC17+¢TeS)S IF 2 < 2
1 THEN Z = 21

NEXT ¢ NEXT tZ = 5 % INT (Z £ 100 / S+ 1)

2l = 2 / 100 . :
HCOLOR= 33M$ = *PERCENT: VUTAB 20! HTAY 7: GOSUB 300¢: VTAR 20: HTAB
<7¢ GOSUB 300 -

NUMBER = Z: GOSUB 320: UTAB 19: HTAB 1: GOSUB 330
GOSUB 320: VUTAB 19! HTAR 29: GOSUN 330:M$ = "0":! VTAER 19¢ HTAE 17: GOSUK

3603 HTAB 23: GOSUB _300
M$ = ®"75+"! UTAR 3: HTAB 19: GOSUR 300:X = 3: GOTO 800
X = X + 13 UTAB X! HTAB 18! GOSUB 300 RETURN
MS = "70<74%: GOSUB 790:M$ = *55-49n COSUR 790:MS = "$0-44": GOSUE 7
J0iM3 = “ST-T9%: GOSUB 790:MS = “50-54": GOSUER 790:M8 = "45-49": GOSUR
FPOIMS m "40-44": GOSUB 790:MS = "35-39": GOSUR 790:M3$ := "30-34"; GOSUK

7P0iM$ = "25-29%: GOSUB 790:MS = "20-24"% GOSUER 790
M$ = "15-19"¢ GOSUB 790IMS = *10-14" GOSUEB 790:M3 = " T-9»: QOSUR 79
0:MS = * 0-4"? QOSUE 790 HPLOT 0r144¢ HPFLOT TO 279r144: GOTO 1010
X = 1153Y = 143 HPLOT XY
FOR A = 1 TO 14:Y1 = ¢



830,

839

844
845
845
350
980
870

830
881
882
984

285
387

388

890
P00

7?20
932
25

927

728
932
933
934
9490

945
230

?60
981
942
964

P65
957

958
970
?8¢0

1010
1015

1015
1017
nzo
1030

10351

HCOLUR= S IF (A > = (T)AND A C = T + 2)0OR(A > = T = 4 AND A <

= T = 2) THEN HCOLOR= &
HFLOT XrY?: GOTO 870

IF A = 4 GOTO 8%0

IF A = 14 GOTO B840

GOTO 870 ’
HCOLOR= T! HPLOT XrY: GOTO 870
HCOLOR= &! HPLOT XrY

X = 115 = 115 % (PCArT9S) / PL179TeS)) 7 21831 = 115 = T(S0) % (115 -

X)

HPLOT TO X,Y!Y = Y = 1!Y1 = Y1 + 12 IF Y1 = 8 GO0TO 890

HFLOT TO X»Y

IF A <4 0R A> 13 GOTO 887

HFLOT TO Xi,Y!Y = Y - 1:Y1 = Y1 + 1! HPLOT 115,Y: IF Y1 = 38 GOTO 89
0

GOTO 880

HPLOT TO 115,Y!Y = Y - 1:Y1 = Y1 + 1! HPLOT TO 115,Y?: IF Y3 = 8 GOTO
890 '

GOTO 880

NEXT

M$ = STR$ (Y(T))! VTAB 5! HTAB 5! GOSUB 300 VTAB 6! HTAB 1:M$ = “PR

OJECTION"?! GOSUB 300! VTAE 4! HTAB 12:M$ = S3(S)¢ GOSUR 300
HPLOT 138s143:Y = 143

FOR A = 1 TO 14:Y1 = o

IF PM = 0 GOTO 932 .

HCOLOR= 5! IF (A > = (T)AND A C = T + 2) OR (A> 3T =4 AND A <
=T - 2) THEN HCOLOR= ¢

HPLOT X»Y?! GOTO 9%0

IF A = 4 GOTO 940

IF A = 14 GOTO 945

GOTO 9990

HCOLOR= 1! HPLOT XsY! GOTO 950

HCOLOR= 2: HPLOT X»Y

X = 158 + 115 % (FPCArTsS1) / PC17+TsS1)) / Z1:X1 = 158 + T(50) x (X -

138)

HPLOT TO XeY!¥ = Y = 1!Y1 = Y1 + 1! IF YL = 8 GOTO 970

HPLOT TO XY

IF A< 4 ORA > 13 THEK GOTO 947 , :

HPLOT TO X1,Y!Y = Y = 1:Y1 & Y1 + 1: HPLOT 158,Y: IF Y1 = 8 THEN GOTO

970

GOTO 960

HPLOT TO 138/,Y:Y = Y - 13Y1 = Y1 4+ 1! HPLOT TO 138,Y! IF YL = 8 GOTO
970 :

GATO 960

NEXT

M8 = STRS (Y(T))! VTAB %: HTAB 33: GOSUEB 3002 VUTAB &¢! HTAB 29:M$ = *

PROJECTION®: GOSUB 300: VTAB $: HTAB 40:M$ = S$(S1)¢ GOSUR 300: RETURN

HCOLOR= &:T = 1! GOSUB 81%

VTAB 23: HTAB 1: PRINT "ENTER NUMBER OF YEARS TO ALUANCE": PRINT "p
OPULATION PYRAMIL, 0 TO END"! INPUT Al

IF Al = 0 THEN RETURN
Al = INT (AL / % + ,%)

IF T + Al > T9 THEN RETURN

HCOLOR= 02 HPLOT 115/143: FOR Y = 143 T0 0 STEP - 1% HPLOT TO 0,Y
* HPLOT  TQ 115,Y: NEXT ¢ HPLOT 158,143 FOR 7 = 143 70 0 STEP - 1:
HPLQT TO 279,Y: HPLOT TQ 1%8,Y: NEXT

HCULOR= 5:T = T + Al: GUSUB B81%: GOTO 1015



T eYY wiliielk &tare TR 0 ALULUKT
1103 UTAR 1: HTAR 20 - LEN (I$) / 2iM% = Z$: LOSUB 300
JA108 Y = 213X = 119! GOSUB 1180
109 UTAR Z! HTAE 20:M$ = % = »; GUSUB 200
1112 Z9 = 0! FOR M = 1 TO T9: IF 29 « FCLZ1TeS) THEN 29 = P(17,T¢8)
1113 IF 29 < Fil7,7-S1) THEN 29 = PC17yTeS1)
1118 NEXT 139 = 29 / (M00,T9) ¥ 21)

1119 FOR I = = 3 10 12028 = 10 ¢ 1 IF 29 < L8 GO0 1121

1120 NEXT

1122 38 = INT (29 7 (20 + (I - 1)) + 1) ¥ (10 ¢ (I - 1)) IF 28 < 1 THEN
g =1

1122 NUMBER = 28! GOSUB 320: VTAD ¢ HTAB 23! GOSUB 330

1124 M8 = Q8! VUTAE 3! HTAK 27: GSOSUD 300:MS = "FROJECTION": VUTAB 5: HTAR
9: GOSUE 3007 VTAB $: HTAY 2%: LOSUE S00IM8 = SS(5)¢ VTAR 5! HTAR 16
¢ GOSUR 300:!MS = S$(S1)! VTAK 5 HTAD 36¢ GOSUE 300:T7 = 1

1145 NUMBER = Y(T)! GOSUB 320 VIAR & HTAZ 7! GOSUB 230: VUTAK 4: HTAB 29
¢ GOSUR 3390

1148 HCOLOR= S: FOR X = 23 TO 148 STEF 140 FOF Y = 13% TO %0 STEP - 11
HPLOT XsY TO X + 84,Y?! NEXT ¢ NEXT .

1130 W = 0:S2 = §

1151 27 = 03Z6 = INT ({P(17,T¢S2) / M(ZeY1)) 7 28 F .5)8Z1 = 18 IF 26 < =
7 THEN 21 = 2

11594 22 = 73 IF (26 = 27) < 7 THEN 22 = 24 - <7

1137 FOR I = Z7 + 1 TO 223X = 22 + 12 € (1 - 27) + 14C X WY = (Z1 - 1) %
23 + 447 GOSUB 1180: NEXT : IF 22 > = 24 4OTO 1184

1160 Z1 = Z1 + 1327 = 22322 = Z4% IF 22 > (27 + 7) THEN 22 = 27 ¢ 7

1165 GOTO 11%7 ' :

1156 S2 a S1: IF W = 1 GOTO 1149

1167 W = 1! VUTAB 23 HTAB 1: PRINT “PRESS RETURN TO ADD SECUNC MRIJECTION
“! INPUT ‘AS! HOME ¢ GOTO 1151 )

1169 VTAB 23! HTAB 1: PRINT "ENTER NUMBER OF YEARS TO ADVANCE*: FRINT “E
NTER 0 TO END*! INPUT T1: IF T1 = 0 THEN RETURN

1170 T =T+ INT(TL /7 S5+ S)LIFT>TO THEN RETURN

1172 GOTO 1145 T

1180 HCOLOkR= 3

1182 HPLOT XrY TO X = 2yY TO X = 59Y = 3 TO X ~ SrY = 5 TO X - 2,y -3 T
X+ 2/Y ~8TQAX+5Y-5T0X+%Y-37T0X+ 2rY TO XrY TU X/Y +
10

1183 HPLOT TO X - S»Y + 15: HPLOT X/Y + 10 TO X + SrY + 13! HPLOT X - 5
'Y + 03 TOX + 5eY 4+ 5

1184 RETURN

<000 POKE 103,01: POKE 104,08

2010 GOTO 2000

2500 GOSUB 10

2001 IF PEEK (770) = 173 GOTO 2%50% . '

2502 POKE 7704173: POKE 771+48: POKE 772,193 POKE 773+136% POKE 774,208
: POKE 775¢5% 'POKE 776+206¢ POKE 777,1: POKE 778¢3% POKE 779+240: POKE
780,9: POKE 781,202

2502 POKE 782,208: POKE 783/24%5: POKE 784+1741 POKE 783,0: POKE 78&:13: POKE

787976 POKE 788+2! POKE 789,3: POKE 790,943 POKE 791,0: POKE 79250

2305 BUE a SIPURPLE m 2:GEEN = 1!WHITE = SIGLD = S!HEK u 4

2307 VTAB 123 HTAB 15 HGR ¢ CALL INITIMS = » "V FOR I = 1 TO LEN (N$)!

HS = M8 + NS(I)! NEXT : GOSUR 300! INPUT AS: TEXT ¢ HOME

2.0 PRINT "WHAT SECTOR LC YOU WANT TO": PRINT “EXAMINE NOW": PRINT *1 D
EMOGRAPHY": PRINT *2 ECONOMY": PRINT *3 EDUCATION®: PRINT "4 HEALTH"
* FRINT 5 HOUSING": PRINT "% NUTRIT.I.N ANII AGRICULTURE"

2313 PRINT ¢ PRINT " OR“: PRINT ! PRINT "7 WOULD YOU LIKE TO GENERAT
E ANOTHER®: PRINT * DEMOGRAFHIC PROJECTION®

2530 A9 = 7! GOSUE 7010

Vi



9
. . -

2570

T2580.

2500
2505
2550
26355
25860
2670

2580

2590

2730
2740
278%

2786
2787
2790

2791
2792
2793
2794
2795
2795
<300

2810
2220
2850
2880

VA e MR W AW Y PWYN Y PHYVY T UYL P TU P OV 2000

TEXT ¢ HOME Q1 = 0:Q2 = 0 FOR T = 1 TU 19MCL1sT) = TC28): NEXT

PRINT "WHICH DEMOGRAPHIC VARIABLE WOULD YUU*: PRINT "LIKE TO EXAMIN
E": PRINT "1 TOTAL POPULATION": PRINT "4 TOIAL BIRTHS": PRINT "3 CRU
DE RIRTH RATE®"! PRINT "4 CRUDE DEATH RATE"™ : PRINT *S POFULATION CROUW
TH RATE"? PRINT “& SIZE OF UREAN POPULATIONR"

FRINT "7 AGE STRUCTURE OF THE POPULATION®"?® PRINT "8 DEFPENDENCY RNATI
0" PRINT "9 CHILD LEFENLENCY RAT1O*

R? = 9%t GOSUE 7010

IF A1 = 7 GOTO 278%

Q1 = 0!Q2 = 0! GOSUE 210

IF As = "X* THEN GOTO 2000

ON Al GOTO 257012690726907270072710c27207278512725v2722
23 = "TOTAL POPULATION": FOR T = 17T )

= PC17¢TeS): NEXT ! GOTO
2730
%8 = "TOTAL BIRTHS®": FOR T = 1 TO TPIICT) = BSeT) /7 S WEXT : GOTO
2730
Z% = "CRUDE BIRTH RATE": FOR T = 1 TO T?2:2C(T) = BCSeT) / ((PCL17sT -

17S) + PC17+T+S)) / 400): NEXT $Q1 = 12 GOTU 2730
Z$ = "CRUDE DEATH RATE": FOR T = 1 TO T9IZ(T' = MC17 + SeT) /7 CCPCL7

tT = 1+S) + PC179T+S)) / 40032 NEXT :Q1 = 1 GOTO 2730
Z3 = "POPULATION GROWTH RATE®: FOR T = 1 TO TFIZ(T) = 100 * ((E(SsT)

= M(17 + SeT)) 7/ B) /7 ((PC17¢T = 145) + PC17+T¢S)) 7 238 NEXT :Q1 =
2 GOTD 2730

IF Q2 = 1 GOTO 2725 ‘ .

PRINT ¢ PRINT "DO YOU WANT TO CHANGE THE RURAL TO®: PRINT YURBAN MI
GRATION RATE FROM "ITC28) % 100}°%": PRINT *OF THE RURAL POPULATION
MIGRATING® ¢! PRINT °TO RURAL AREAS EACH YEAR "} GOSUB 6999: IF A =
*N*" GOTO 2725

FOR T = 1 TO T93Z(T) = M(1,T)¢ NEXT ! COSUB 202 FOR T = 1 TO T9:M(1
'T) =& Z(T)? NEXT

2% = “SIZE OF .-THE UREAN PDPULATION":2(1) = T(27): FOR T = 2 TO T93Z(

T)= Z(T = 1) 2 PC17+T+S) / PC17+T = 1¢S) + S X M(1eT) %X (P(L7¢T - |
1S) = ZUT = 1)) X (PC17¢TsS) / PC17+T = 1+8)) ¢ »3¢ NEXT ¢ GOTO 2730

GOSUB 7050: IF A$ = “N* GOTO 2270
GOTO 2660

PRINT 2 PRINT ¢ PRINT *DO YOU WANT®: PRINT "(1) AN AGE PYRAMID": PRINT

"(2) A TABLE OF UALUES”": PRINT ®"(3) AN AGE PYRAMID SHOWING": PRINT "
POPULATION MOMENTUM®$ INPUT A1: IF A1 < 1 OR Al > 3 GOTO 27859

IF Al = 1 OR A1 = 3 GOTO 2790

GOTO 2830

PRINT : PRINT ¢! PRINT "WHICH TWO DEMOGRAPHIC PROJECTIONS®": PRINT "D

0 YOU WANT TO COMPARE™": INPUT AS,M$: FOR I =170 3 IF Aas = Se¢I) GOTO

2792

NEXT '

S= I: FORI = 1 TO 3! IF M$ = S$(I) GOTO 2794
NEXT

Sl =

IF a1 = 3 GOTO 2820

GOSUB 700

VTAB 23: HTAB 1: PRINT "DO YOU WANT TO COMPARE TWO MORE ": PRINT "P
ROJECTIONS®: GOSUB 4999: IF A$ = *Y™ THEN GOTO 2790

GOTO 2570
PH = 1! GOSUE 700:FPM = 0: GOTO 2570 .

PRINT ¢ PRINT : GOSUB 240 | '

PRINT ¢ PRINT : PRINT *DO YOU WANT TO USE THE PRINTER": GOSUB 4999
IF A$ < > "Y* GOTO 2846

e



¢ ~TOL-, ¥ L

2864
* 2887
T

2358
2849
<870
2871

=872
- 2873
2874

4
287%

ﬂsvé
2880

2381
<382
2883
2988
2789

2990
2000
3003
3006

3008
3010

3030
3040
30790

3100

FOR A = 1 TO 13 STEP 4! HOUME ¢ PRINT 2 FRINT ! PRINT *PROJECTION "7

'S8(S)! PRINT

FRINT ¢ PRINT "YEAR "fA £ 0 - 5i"=-"1A ¥ U -~ 17! HTAB 14! PRINT A 2
Giv="3A X S + 472 HTAR 250 PRINT A % 5 + S#"="3A X 5 + 97 HTAR 347 PRIN

AY S + 10i"=-"1A 2 T + 143 PRINT

FOR T = 1 TQ T9

IF T=10R Y(1) 75 = INT (Y(1)/ 5) = 0 GOTO 2871

GOTO 2872

Y = Y(T)! FOR I = 11 TO 14M(IsT) = P(A + I = 11,TsS)¢ NEXT ¢ GOTO 2
g80 :

IF Y(1) < 1975 GOTO 2874

P = 1980 = Y(1)!P1 = = 1V ® INT (Y(T) / 3) % 5! GOTO 2876
P = 1980 = Y(2):P1 = 0!Y = INT(W(T) / 3) + S IF T < > T7 GOTO 28
76

Pl = = 1P = 1980 - Y(1)

FOR I = 11 TO 143MCIsT3 = P(A 4+ I - L1¢T + P1+48) 2 (((P(A+ T = 11y
T+ 1 +P1¢S)Y/7 PCA+ 1 = 11sT + P1sS)) 1 .2) 1 PII NEXT

PRINT Y#: HTAB &6: PRINT INT (MC11,T))é¢ HTAB 15% PRINT INT (M(12s
T))ss HTAB 243 PRINT INT (M(13,T))é$ HTAR 342 °RINT INT (MC14,T))
NEXT .

GQSUE 2989

NEXT ¢ PRINT ¢ FRINT

PR® 0: GOTD 23570

PRE 02 VUTAB 20¢ HTAB 1 PRINT *"PRESS RETURN TO CORTINUE®: INPUT Ms:
IF AS = *Y*" THEN PR3 1

RETURN

GOSUB 10

IF E(SsT991) = 0 GOTO 3008

PRINT "DO YOU WANT TO DO THE ECONOMIC®: PRINT "PROJECTICNS AGAIN (Y
OR N)*$ GOSUB 6999: IF AS = "N* (ROTO 3290

FOR T = 1 TO TO:!M(9+T) = T(S0ISH(SyT) = T(E7)? NEXT

GOSUB 10: PRINT "DO YOU WANT T0°: PRINT *1 CHANGE THE LABOR rORCE"‘
PRINT * PARTICIPATION RATE": PRINT °2 CHANGE THE RATE OF TECHNICAL
*: PRINT ® PROGRESS": PRINT *3 CHANGE THE AMOUNT OF FOREIGHN®™: PRINT
* ATD RECEIVED®": PRINT "4 CONTINUE"®

A? = 4% GOSUB 7010

ON Al GOTOQ 3070,3100,3120¢3150
2% = "PARVICIPATION RATE OF POP 15-64"! FOR T = 1 TO T93Z(T) = M(9sT
)¢ NEXT ¢ GOSUB 20 FOR T = 1 TO T9:M(9¢T) = Z(T): NEXT ¢ GOTQ 3010
PRINT ¢ FPRINT : PRINT "THE ANNUAL RATE OF TECHNICAL"?! PRINT "PROGRE
SS IS "I1T(%9): PRINT ! PRINT "PLEASE ENTER THE NEW RATE"™: INPUT T(3G
¥t GRTO 3010
Z8 = "X GNP RECEIVED AS FOREIGN AID®*: FOR T = 1 TD T9: Z(T) = M(SeT)S
NEXT ¢ GOSUB 20 FDR T = 1 TD To:M(S,T) @ Z(T)? NEXT ¢ GOTO 3010
HOHME ¢ VUTAB 12¢ PRINT ®*CALCULATING ECONGMIC PROJECTION,.."

FOR S = 1 TO 3

E(2y1¢S) ®m T(S4)2E(3717S) = T(IOIEC4r1¢S) =& T(T2IE(Tr1sS) = T(29)2
E(7¢1¢S) = T(31)

2 E(Hr19S) = E(T919S) / PCLT7s1sl)

IF P(17+2+5) = 0 THEN GOTO 328B%
FOR T = 1 TO T9:M(S/T) = ©
FOR A = 4 TO 13:M(SsT) m M(SsT) + PCArTeS) X M(P»T)! NEXT
IF T = 1 THEN GOTO 2280
S CF = T(31) 7 (T(29) £ ( 3'63 - (2,28 - 5) X T(29) / T{17))
EC29TrS) =2 EC24T = 1¢S) + 5 £ (M(SsT) X E(TeT = 1¢5) = T(SS
- 1+8))
E(39TsS) = E(39T = 1+S) + & X (E(SsT = 1¢S) = EX(7¢T = 195) + M(TrT) &%
E(S¢T = 195) = T(Z%) X E(29T = 148) = T(%é6) % E(2¢T = 1¢8) = T(S3) %

)
) X E(d.l‘l

+\



v Y Wl &t 4/

I = T(J3) t (1 - (E(4'T - 1985/ M(SeT = 13)) /7 (1 = E(‘rlrS) / H(Sy

1N

321 E(4¢T¢S) = (1 + I % (EC3eTrS) = E(3¢T = 198)) 7/ CE(3¢T = 1¢8))) £ EC .

4¢T = 1¢8)

3240 IF EC4¢TrS) > .98 X M(SsT) THEN E(4¢TeZS) = .98 £ M(SeT)

S245 E(SeTeS) = T(E2) X ((1 + T(S9)) 2 (T ¥ & = 5)) & (BE(3¢TeS) 1 T(H0)) &
(EC4+T+S) ¢ TCE1))

3250 E(5sTe8) = ECSeTreS) / P(L17¢TeS)

I259 E(7¢TeS) = ECSeTeS) % (,8583 = ECS6rTrS) ¥ 2,28 - &) % CF

3280 NEXT T

3289 NEXT S

3290 GOSUE 10

3300 PRINT "WHICH ECONOMIC VARIAKLES WOULI YOU®"?: PRINT "LIKE TO EXAMINE"
s PRINT "1 GNP"! PRINT *2 GNP PER CAFPITA"! PRINT "3 CAPITAL PER WORK
ER”": PRINT "4 SIZE OF THE LABOUK FORCE®?! PRINT *3 NEW JOF REQUIREMENT
e '

3301 PRINT "8 LABOR FORCE AND CHILD DEPENDENTS":A9 =~ 4! (GOSUR 7010

3570 IF Q2 = 1 THEN GOTO 337.

1372 GOSUB 2190

3373 IF AsS = "X* THEN GOTO 2000

3374 IF A1 € > 1 AND A1 € > 2 AND Al < > 3 GOTQ 3378

I375 PRINT ¢ PRINT 3 PRINT *"DO YOU WANT THE QUPUT TO BE IN "% PRINT *(1)

U.S. DOLLARS®: PRINT *"(2) *"#Cs: INPUT A2! TF A2 < > 1 AND A2 < >

2 GOTO 337%

3378 ON Al GOTO 3380,3390r3400,3410,3420933500

3380 2% = GNP (1975 US DOLLARS)": FOR T = 1 TO T9!Z2Z(T) = E(TrTrS): NEXT
v IF A2 = 1 GOTO 34490

3381 Z5 n "GNP (1979 * + C$ + ") FOR T = 1.T0 T9:Z(T) = 2(T) % T(é4): REX

? GOTO 3440 .

3390 Z$ = “GNP FER CAPITA (1974 US DOLLARS)®! FOR T = 1 TO T9!Z(T) = E(éy
TeS)? NEXT ¢ IF A2 = 1 GOTO 3440

3391 Is = "GNP PER CAPITA (1975 * + C$ 4+ ")*! FOR T = 1 TO T9:Z(T) = AUT)
¥ T(464) NEXT ¢ GOTO 3440

3400 I% = "CAPITAL PER WORKER (1975 US DOLLARS)": FOR T = 1 TO T9:Z(T)
EC3¢TsS) 7/ EC(4¢TeS)! NEXT ¢ IF A2 = 1 GOTQ 3440

3401 I% = “CAPITAL PER WORKER (1975 * 4 C$ + *)*2 FOR T & 1 TO T?:1Z(T)
Z(T) ¥ T(44) NEXT ¢ GOTO 34490

3410 Z$ = "LAROR FORCE®: FOR 7 = 1 TO T9:2(T) = 02 FOR A = 4 TQ 13:4UT) =
Z(T) + PCArTsS) X M(P+sT): NEXT ¢ NEXT : GOTO 3440

3420 Z% = "NEW JOB REQUIREMENTS PER YEAR":IM(&6s0) = P(17,0r1) X T(3E1) / F(
179s1¢1)2 FOR T = 1 TO T9M(ArT) = 0t FOR A = 4 TO 13M(&s7T) = M(6,T)
+ PCArT+S) X MIPsT ) NEXT ¢! NEXT '

3421 FOR T = 1 TOT? = 132(T) = ((MS&sT + 1) / M(EsT = 1))
(6sT): NEXT 32(TP) = M(6sT) X ((M(EsT) / M(EeT = 1)) ¢
3440

3440 GOSUR 7050¢ IF A$ = "N* GOTO 3290

3450 GOTO 3378

3500 I$ = "LABOR FORCE AND CHILD DEPENDENTS": FOR T = 1 TD TPIZ(T) = M(Sy
T3¢ NEXT LF = 17 GOSUB 7030! IF A% = "N“ GOTO 332

3T10 GOTO 3500

520 LF = 0! HOME ¢ VTAB 22% PRINT “PRESS RETURN TO ADL DEPENDENTS "#! INFUT

t .1 =1) %M
2 = 1) GOTO

Q

ASIS = 1 ’

HCOLOR= 0! FOR Y = 85 TO 9% HPLOT 8(Y TO 279.Y: NEXT ! HCOLOR= WHI
TE: HWPLOT XLrYH TO XLr21350 TO XHs150 .TO XHeYHINUMEBER = INT (ZI% / 227
¢ GOSUR 3207 HTAR 1! YTAR 19¢ GOSUER 330
Q2 = 1LF = 2!3K = 1! FOR T = 1 TO T73Z(T) = P(1+sT¢3) + P(2:T¢S) + F
(3rTrS)? NEXT ! GUSUR 7050:SK = 0ILF = 0! IF A$ = "N" GOTO 3290
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cweUe, WWIU TS

4000, GOSUB 102 FOR T = ¢ TO T9IM(1,T) = TCO7IIMC2rT) = T(48)F WEXT

40100 HOME X = FRE (0)! PRINT "DO YOU WANT TO®: PRINT ¢ PRINT "1 CHANGE

' THE PRIMARY ENROLLMENT®: PRINT * RATE OF "iT(67)

4011 PRINT "2 CHANGE THE SECONDARY ENROLLMENT" ! PRINT * RATE OF *;T(48)
! PRINT "3 CONTINUE*:N9 = 3! GOSUE 7010

40320 ON ALl GOTO 4030r404074045

4050 FOR T = 1 TD T9!2(T) = M(1,T): NEXT :I$ = "PRINARY ENROLLMENT RATE"
+ GOSUE 20

4051 FOR T = 1 TO T9!M(1,T) = ZCT)! NEXT GCOTO 4010

4040 IS = "SECONDARY ENROLLMENT RATE": FOR T = 1 70 7932(T) = M(2:,T): NEUT
+ GOSUE 200 FOR T = 1 TO T9!M(2¢T) = 2(T): NEXT : GOTO 4010

4045 GOSUR 10! PRINT “WHICH EDUCATION DISPLAY DO YOU": FRINT “WANT TO EX
AMINE®? PRINT ¢ PRINT "1 COMPARISON OF PRIMARY EDUCATION"! PRINT *
ENROLLMENT FOR TWO PROJECTIONS®

4045 PRINT *2 PRIMARY AGE CHILDKEN*: PRINT *3 PRIMARY STUDENTS": PRINT *
4 SECONDARY AGE CHILDRZIN": FRINT "5 SECONDARY STUDENTS®

4047 AF = 3! GOSUE 7010

4049 QL = 61Q2 = 0! GOSUB 210 IF AS = wy» GOTO 2000

4900  ON Al GOTD 4052r4400/94410,4420,4430

4004 PRINT ! PRINT ¢ PRINT ¢ PRINT "WHICH TWO PROJECTIONS WOULD YOU LIKE
"t PRINT "TU COMPARE®": INPUT AS,/M$: FOR I =31 7T0 3! IF A$ = S$(1) THEN
S =1

4033  NEXT

4034 FOR I = 1 TO 3¢ IF M$ = S$(I) THEN Si1 = ]

4053 NEXT .

4060 FOR T = 1 TO T9I2({T} = (P{2,Ts8) + PU3sTeS)) £ TCASIINCA,T) = 2T
NEXT $Z% = “PRIMARY AGE CHILDREN®:CS = "G¢¢ GOSUB 343

4065 H$ = °TOTAL PRIMARY CHILDREN®: UTAE 5¢ HTAB &é! GOSUB 300: HCOLOR= 3:
HPLOT 194,40 TO XsY

4070 FOR T = 1 TO T9$2(T) = Z(T) MCLyTOIMCST) = Z(T)! NEXT : GOSUB 40
0 .

4090 M$ = “IN SCHOOL": VTAP 18! HTAB 30 GOSUB 300

4100 M$ = *NOT IN SCHOUL®: UTAB 9! HTAB & GOSUB 300: HCOLOR= 3: HPLOT =0
175 TO XL + S9YH = (((M{4s1) + M(%e1)) / 2=-20) /(29 - 20)) £ (YH -
YL)
HCOLOR= 2! FOR T = 1 TO TYIM(S¢T) = MC4sT) NEXT !T1 = 1 GOSUB 430
0 :

4103 GCOTO 4104: HPLOT 124,52 TO X = 2,Y - |

4104 VTAB 23! HTAB 1! PRINT "PRESS RETURN TO AUD THE NEXT PROJECTIOM *5:
INPUT As ' '

105 FOR T =1TO TPLZ(T) = (PC2sTeS1) + P(3¢TrS1)) £ T(45)8 NEXT !Ss = S
1! HCCLOR= 1: HPLOT 1s1: GUSUB 400

4106 FOR T = 1 TDO T7? = 3¢ IF 2AT) ¢ =& MCS,T) GOTO 4113
4107 NEXT '

4112 IF T > = T7 GOTO 4120 :
4115 T1 = T? HCOLOR=® 1! FOR T = 1 TO T9:M(4¢T) = MCSrT)! NEXT ¢ GOSUB 430
0

e
o
(A

4114 M3 = "CAPACITY SAVINGS“: VTAW 7: HTAB &% GOSUB 300! HCOLOR= 3: HPLOT
150530 TQ XH = Se(YS + YS5) /2

4120 VTAD 233 HTAE 1! PRINT "PRESS RETURN TO CONTINUE "i: INPUT AS

4124 GOTO 2504

4300 FOR T = 73 TO T7 - 1

4301 IF 2(T) = MC&eT S GOTO 4324

4302 X1 = {(Y(T) = Y(13) / (N(T7) = YC1))) % (XH = XL) + XL
4304 X2 = ((Y(T + 1) = Ya1)) /7 (Y(T7) - YO1))) % (XM - XL + XL
4306 YI = YH = YLIZU = 27 - Zo :

4308 Y1 = YH = ((Z(TY = 2Z0) 7 Zh) YD

4310 Y2 = YR = ((Z(T + 13 - 20y ,/ TU) % YU

4312 Y3 = YH = ((M{&s T} = 2Z0) / 2D % YU



4314 YA = YH = ((MCAeT 4 1) = ¥0) / D) £ YU

4318 FOR X = X1 TO xu

4318°Y5 = Y2 4 (Y1 = Y2 w L¥2 - %) s (M2 - %1

4320 Y8 m Y4 4 (YE = YA) 3 IXL = XV 4 (K0 - ¥1) 4+ 2

4322 HFLOT Xr¥S TU XrY&: NIYT '

4324 RETURN

$400 2% = "PRIMARY AGE CHILUREW"! 10K % = § TO TOIZ(T) = (F(2,T+S) + B3,
TeS)) ¥ TUS5) NEXT & GOTO #440

416 23 = "PRIMARY STULENIS"S FOR I = 1 14 f9;2¢T) = (PC2:T/8) + PCI,T,8)
) # TUSS) ¥ MCL1eT ) NEXT ¢ GOTO 4 (4¢

#9420 28 = "SECONDARY AGE CHILLKEN": FUR T = 1 TC [1:2(T) = (F(3sTrS) + PC
$1TrS)) ¥ TS6)8 NEXT ¢ CUVO 4440 '

430 2% = "SECONDARY STULENTS®: FOR T = 1 1C TFIZ(T) = (P(3rTsS) + FCAsT)

S)) ¥ TC6&) £ M(2,T): NEXT

40 GCSUB 7050! IF AS = "NY GOTU 4045

¢ GOTG 4050

.
=-
s
-

00 HOME 3 FOR T = 1 73 T9!M(1sT) = TCEPIMC9T) = TET708 NEN,
05 C3SUR 10
1o PRINT "DIO YRU WANT TO": PRINT "1 CHANGE THE NUMBER OF PZOMLE': PRINT
" PER PHYSICIAN"?! PRINT “2 CHANGE THE NUMBER OF PZOFLEY: PRINT * P
ER HOSPITAL BED*$ PRINT *3 CONTINUE":A9 = 3! GOSUb 610
S020 ON Al GOTO 5030,5040 %050
9030 I$ = "PEQFLE PER PHYSICIAN®: FOR T =1 T0 TOIZ(T) « M(1,T38 NENT »JSUB

200 FOR T = 1 TO TO:M(1sT) = Z(T)! NEXT ¢ GOTO 5005

J040 Z$ = "PEOPLE PER HOSPITAL BED®: FOR T e 1 TO0 TOIZ(T) = M(2,T), NEXT
: GOSUB 203 FOR T = 1 TO T9:M(2,T) = Z(T): NEXT ¢ GOTO 5005

9030 GOSUB 10: PRINT “WHICH HEALTH INDICATOR DO YOU WANT": PRINT *TO ENa
MINE": PRINT ! PRINT "1 NUMBER OF FHYSICIANS REQUIRED®

J050  PRINT "2 NUMBER OF HOSPITAL BEDS REQUIRED*: PRINT "3 POPULATION AT
HIGH HEALTH RISK¥: PRINT * (MOTHERS AND CHILDREN UNDER 5)": PRINT

S070 AP = 3! GOSUEB 7010

S090 Q1 = 0IQ2 = 0! GOSUB 210: IF AS = X" GOTO 2000

5150 ON Al GOTO 5110,5120,%5130 : .

9110 I3 = "NUMBER OF UIOCTORS REQUIRED"®: FOR T = 1 TO T9Z(T)Y = P(17+sT+S) /
MC1sT)S NEXT ¢ GOTH 5140

9120 ZI$ = *NUMBER OF HOSPITAL BEDS REQUIRED": FOR T = 1 TO T9:Z(T) = P(17
tT7S) / M(2sT): NEXT : GOTC 5140

3130 Z3 = “POPULATION AT HIGH HEALTH RISK*": FOR T = 1 TO T9:2(T) = P(1sTs
S) + (PC4sTrS) + PCSeTsS) + P(&sTeS) + P(7¢T+S) + P(BsTIS) + PCPsTrS
)) X Tr2T): NEXT -

J140 GOSUB 70%0: IF AS = "N* GOTO 5050

3130 GOTO S100 .

3500 GOSUR 10! PRINT "WHICH HOUSING VARIABLE DU YOU WANT": PRINT "TO EXA

HINE™ ! PRINT

PRINT “1 NUMBER OF HOUSCHOLDS®: PRINT “2 NUMBER OF HOUSEHOLIS REQUI

RING": PRINT ® NEW HOUSING®: PRINT "3 AVERAGE KOUSEHOLD SIZE"

4

[&]
[
<

S320 A? = 3 GOSUB 7010

9540 Q1 = 0:@Q2 = 0: GOSUB <10 IF A$ = *X" GOTO 2000

S541 I =0 FOR A = 5 TO 13:1 = I + PCAsLrS)S NEXT :J = (PCL751+s8) /7 T(T1L
) /(1 /7 2)

G542 MUL1s0) = . X PCLTs0,1) 2 (I /7 PC175101)) / 2

<943 FOR T =1 TO T9:I = o: FOR A = 5 TO 13'1 = 1 + FCAsTsS): NEXT

SSA4 MLyTY = J 21/ SIMC3sT) = POL7eTeS) 4 MCLrT)! NEXT

S548 FOR T = 1 TO TY - L3MOZrT) = CCMCLeT 4+ 1) /7 M(LsT = 1)) ¢ 'l - 1) X
MOCLyT) + .02 % MC1,T)S NEXT ‘

G543 MO2rT9) = ((MU1/T9) / M(L1sT9 - 1)) 002 = 1) % MCL19TD) + ,02 ¢ M(CLsT
9)

SS56 ON Al GOTO S540r557055590

SJed Is = "NUMEER OF HOUSEHBLIS" ! CUTO S590

o\



3970 Z% = "HOUSEHOLDS REQUIRING NEW HOUSING*: GOTO wS%0

.9580 2% = "AVERAGE HOUSEHOLD SIZE®

JSS90 T FOR T = 1 TO T9SZ(T) = MCAL,T ) NEXT

"3600 GOSUE 7050: IF AS = “N® GOTO S%00

S8le GOTO 5543

8000 FOR T = 1 TO T?:M(1¢T) ® TC74)IM(2s]) =« TC75)0 NEXT tMCdel) ¢ T(73)

$010 GUSUER 10

8020 FRINT “DLO YOU WANT 10 CHANGE": PRINT § PRLNT "1 THE FOOI SUFPLY GRO
WTH RATE"! PRINT % FROM "3T(74) £ 100;" PERCENT PER YEAR": PRINT "2
THE AMOUNT OF ARARLE LANI"! FRINT " = FRUM "FET(73)i" HECTARES"

5030  FRINT "3 OR CONTINUE":A9 = 3: GOSUR 7010

5080  ON Al GOTO &1007411054615%50

S100 I% = "ANNUAL RATE OF GROWTH IN FOOD SUPPLY*! GCTD 8120

5110 2% = "THE AMOUNT OF ARABLE LAND*

©120 FOR' T = 0 TO T9:Z(T) = MCA1,T): NEXT ¢ GOSUE 20! FOR T = 0 TO T9:M(
AlsT) = Z(T): NEXT ¢ GOTO 4010

5150 GOSUB 10

8180 PRINT "WHICH FOOD AND NUTRITION VARIABLE": PRINT “WOULD YOU LIKE TO
EXAMINE"! PRINT ¢ PRINT ®1 TOTAL KILOCALORIES REQUIRED*: PRINT "2 T
OTAL SUPPLY OF KILOCALORIES*

8170 PRINT *3 RATIO OF KILOCALORIE SUFPLY TO*: PRINT " REQUIREMENTS": i“RINT

"4 AMOUNT OF ARABNLE LAND PER PERSON® (A9 = 4 GOSUB 7019

8233 IF Q2 = 1 GOTO 4240 .

0237 GOSUR 210! IF AS = *X" GOTD 2000

6440 FOR T = 1 TO TO

5260 M(3sT) = 1400 X P(1,T/S) + 2046 X P(2sTeS) + Q475 ¥ P(2sTeS) X .6 +
T(72) % C1.05 * P(3,TsS) ¥ .4 + 1,038 % P(4rTeS) + PCSsTIS) + PC6eTy
S) + P(7rTsS) + F(8sTyvS) + .95 X (PC9sTsS) + PClO0sTeS)) + 49 5 (PC11
rTrS) + PC12sTeS)) + o8 % (P(13,7s8) t PC1l4sTs8)) + o7 £ (PC15,TsS) +
PCl6sTeS))) . : '

€270 IF T = 1 GOTO 4280 '

8275 MCAsT) = M(49T = 1) X (1 + M(1,T)) ¢ 5 .

8280 M(SsT) @ M(AsT) / MCBeTIIMCEIT) = MCDsT) / FC17:T98)

6300 NEXT

8310 ON Al GOTO 6330+6340+48350+4350 :

“TOTAL KILOCALORIE REQUIREMENTS*: COTO 4370

8330 2% =

5340 I3 = "TOTAL KILOCALORIE SUPPLY®: GOTO 4370

6350 Z% = "RATIO ENERGY SUPPLY/REQUIREMENTS®: GOTO 4370
6350 Z$ = "ARABLE LAND/CAPITA (HECTARES)

6361 IF Q2 = 1 GOTO 4370 :

6362 PRINT "DO YOU WANT A GRAPH (G )sBAR CHART (B)s"¢ PRINT "TABLE (T) OR
PICTORIAL DISPLAY (P)*: INPUT G$: IF G$ < > "G" AND G$ < > “B*" AND
G$ < > "P® AND G$ < > "T™ GOTO 4342 .

6363 IF GS = “C" OR GS = “B® OR G$ = *T* GOTQ 6370

6364 2% = “PEQPLE PER HECTARE OF ARABLE LAND" :Q8 = "PERSON*: PRINT “WHICH
TWO PROJECTIONS”: PRINT "DO YOU WANT TO COMPARE" : INPUT AS,M$: FOR
1=1703: IF A% a S$(1) THEN § = I

8363 NEXT ¢ FOR I = 1 TO 3! IF M$ = S$(I) THEN S1 = I

8366 NEXT ! IF F(17+T9¢s5) = 0 OR P(17+T79s51) .= 0 CDTO 4364

8359 GOSUE 1100 GOTO 41%0

8370 FOR T = 1 TO TPI2(T) w M(AL + 2,T)! NEXT

8390 GOSUB 70T0: IF AS = “N" GOTO 6150

5400  GOTO 4240 .

8999 INPUT AS: IF A$ = "Y> QR AS = *N* THEN RETURN

7000  PRINT ! PRINT *PLEASE RESFONU WITH ¥ (YES) OR N (NO) "i! INFPUT AS: IF
A$ = "Y" QR A% = “N* THEN RETURN

7001  GOTO 7000

7010 PRINT ! PRINT "ENTER 1 THROUGH “;A9;" TO INDICATE": PRINT "YOUR CHO



(S

Povi R ewe o FRLNL TRENMIEK VU U ENLD THIS SECTIDN.
L7011 LINPUT Al IF A1 < 0 OR AL > 49 GOTO 7015
7012- IF Al = ¢ THEN POP
7013 IF Al = 0 GOTO 2%00
7014 RETURN
7013 PRINT ! PRINT "RESFONSE MUST KE RETWEEN 0 ANL "1nA9: PRINT "FLEASE R
ESUBMIT YOUR RESPONSE": LoTg 7011
7030 IF Q2 = 1 THEN GQOUSUK 600
7080 IF G2 <. > 1 THEN GOSUER 53¢
7083 IF G$ ¢ > wuTw GaTO 7070
7066 S =8 + 102 = 1¢ RETURN
7070 HOME : VTAR 23 HTAR 1! PRINT "DISPLAY AROTHER PROJECTION (Y OR N
v GOSUR ¢9v9
7080 IF A$ = *N® THEN RETURN
71i0 GOSUB 240! IF A$ = *X* GOTO 2000
7120 Q2 = 1! RETURN
3000 TEXT : HOME
3005 ON Z1 GOTO 8010,8015,8020,3025,8030

S010 M3 = * ": COTD 8040

3015 M$ = *"THOUSANDS®": GOTO 80490
3020 k¢ = "MILLIONS®: GOTO 8040
8025 M$ = "RILLIONS®": GOTO 8040
83350 M$ = "TRILLIONS®

3040 IF Q1 = 1 THEN M$ = *PER THOUSAND®

8045 IF Q1 = 2 THEN M$ = “PERCENT/YEAR” .

8047 Z2 = 10 4 ((21 - 1) % 3) IF Z1 < = 0 THEN I2 =

8049 FOR T = 1 TO T7:MC10 + SrT) = Z(TI! NEXT ¢ IF §

8001 IF PC17+2485 + 1) < > 9 THEN RETURN

B80S IF P$ = *Yv QUTO go0SE

8056 IF P$ « "N" ZOTO 8059

8057 HOME ¢ PRINT *DO YUU HAVE A PRINTER (Y OGR N) *;j: GOSUB 6979:Ps = As
* IF P$ = "N" GOTO 8059 '

9058 PR® 1 ’

3059 PRINT ¢ PRINT : HTAB 100 FOR I = 1 TO LEN (N$): PRINT N$SCI)i: NEXT
* PRINT ¢ PRINT 23! PRINT Ms: PRINT ¢ PRINT *YEAR":: HTAB 193 PRINT
*PROJECTION “¢ HTAB 11 PRINT S3(1)#: HTAB 23: PRINT S%(2)3: HTAB 34
¢ PRINT S$(3): PRINT

8066 FOR T =1 10 77

806l IFT=10RVY(1)/ 3 = INT (Y{1) 7/ 5) = 0 GOTO 8043

80462 GOTO 8044 .

8063 Y = Y(T)IM1 = MC11,T)HIM2 = MC12sT)IN3 = MC13,T): GOTO 8079

Seé4 IF Y(1) < 1975 @OTO B04&4

8060 P = 1980 - Y(1)iP1 =2 - 13Y =& INT (Y(Y

80466 P = 1980 ~ Y(2):pL = 0lY = INT (Y(T) /
3068

3067 F1 = = 1!P = 1980 - Y1)

3068 M1 » MC11,T7 + P1) % CCOMCLL9T + 1 + PY) / MCL10T 4 P1)) t ,2) ¢t P)yIM
2= MO12,T 4+ PL) % CCOMCL2eT ¢+ 1 ¢ P1) / MC12,7 + Pl1)) ¢t .2) t PIIM3
= HOI3sT + P1) X (((MC13,T + 1+ P1) /7 MUL13eT + PL1)) ¢ ,2) ¢ P)

il

3 GOTO 80%s

)/ G) T 5: GOTO 8048
S)ES+SLIFT < > T7 gOTO -

BO70  PRINT vin 7 INT (M1 % 100 / 22 + .53) / 10C#3 HTAB 22% PRINT INT
(M2 % 100 /7 22 + .%) 7 1003 HTAR 33! PRINT INT ¢{N3 % 100 / 22 + .5
) /189

8071 NEXT

S080  FRY 0! PRINT ! PRINT @ PRINT "PRESS RETURN TO CONTINUE™: INFUT As:A
S = "N"! RETURN
9999 END



